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Question 1: Evidence 1
fruitlist=[]
fruit=input("Enter a fruit:")
fruitlist.append(fruit)
print(fruitlist)
Question2: Evidence 2
vegetablelist=[]
for i in range(10):
    vegetable=input("Enter a vegetable")
    vegetablelist.append(vegetable)
    print(vegetablelist)
Question 3: Evidence 3
a) cities=["New york","Paris","Madrid","Amman"]
listlength=len(cities)
print(listlength)
output=4
b) Cities=["New york","Paris","Madrid","Amman"]
Cities.append("London")
print(Cities)
c) Cities=["New york","Paris","Madrid","Amman","London"]
Cities[1]=("Dubai")
print(Cities)9 
d) Cities["New york","Dubai","Madrid","Amman","London"]
del(Cities[3])
print(Cities) 
e) Cities=["New york","Dubai","Madrid","Amman","London"]
print(Cities[2])
f) Cities=["New york","Dubai","Madrid","London"]
print(Cities[3])
g) Cities=["New york","Dubai","Madrid","London"]
Ammanlength=len("Amman")
print(Ammanlength)
h) Cities=["New york","Dubai","Madrid","London"]
print(Cities)
Question 3: Evidence 4
You can’t edit an element that doesn’t exist. There aren’t seven elements therefore you can’t edit the seventh element.


